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QUESTION 1

If the selected SGW fails, which SGW/PGW will MME select if "gateway selection mode 2\\' is used?
A. A new SGW, but new PGW selection is not required

B. A new SGW first, then select a new PGW that is topologically closest to the newly selected SGW
C. A new SGW first, then select a new PGW with the best order and preference values

D. The next topologically closest SGW/PGW pair

Correct Answer: A

QUESTION 2

Which of the following messages are exchanged between the MME and the SGW during the dedicated bearer activation
procedure?

A. Attach Request / Attach Accept

B. Create Bearer Request / Create Bearer Response

C. Session Management Request / Session Management Response
D. RA-Request / RA-Answer

Correct Answer: B

Reference: https://www.sciencedirect.com/topics/engineering/dedicated-bearer

QUESTION 3

Which of the following statements regarding an EPS dedicated bearer is FALSE?

A. A dedicated bearer is any EPS bearer to a PDN that is already connected to the UE.

B. A dedicated bearer can be either a GBR or non-GBR bearer.

C. A dedicated bearer remains active as long as the UE is attached to EPS.

D. A dedicated bearer uses the same IP address that was allocated for the associated default bearer.
Correct Answer: B

Reference: https://www.mpirical.com/glossary/gbr-guaranteed-bit-rate

QUESTION 4
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Which of the following statements regarding a tracking area list (TA list) is TRUE?
A. The location of an idle UE is known by the network at an eNodeB granularity.
B. The location of an active UE is known by the network at a TA list granularity.
C. All the tracking areas in a TA list are served by the same MME.

D. A tracking area list is a logical set of MMEs.

Correct Answer: B

QUESTION 5
In this exhibit, a new SCTP profile is configured on the MME.

Which interface(s) in the given exhibit can be associated with this profile?

a Sea 2)
10.10.9.0/24 '

S1-MME

511
eNodeB 10.10.2.0/24

# cmm sctpProfile create —name sctp-profile —rtoMin 100 —rtoMax 500
A. S1-MME only

B. S11 only

C. Both S1-MME and S6a

D. Both S11 and S6a

Correct Answer: C
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